
Hex 1/8 Hex 5/32 Hex 3/16 Hex 1/4

Hex 5/16 Hex 3/8
Hex 3/16

.125 dia shank
Hex 1/4

.136 dia shank

Round 1/8 Round 5/32 Round 3/16 Round 1/4

Round 5/16 Round 3/8
Round 3/16
.125 dia shank

Round 1/4
.136 dia shank

Round 4.5mm Round 6mm Round 8mm Round 10mm

SWAGE STANDOFFS

AMERICAN STANDARD SIZES

Click to choose page

HTTP://WWW.ACCOFAST.COM

METRIC SIZES

Click to choose page



1/8 HEX SWAGE STANDOFFS

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3500 1/8 Such as: AF3528-D-256-B-5
AF3501 3/16
AF3502 1/4
AF3503 5/16

Thread Code Material
AF3504 3/8
AF3505 7/16 Code Thread A Aluminum
AF3506 1/2 080 0-80 B Brass
AF3507 9/16 S Steel
AF3508 5/8 SS Stainless Steel
AF3509 11/16
AF3510 3/4
AF3511 13/16
AF3512 7/8
AF3513 15/16
AF3514 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

0-80 3/8 1/4 3/16



5/32 HEX SWAGE STANDOFFS

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3515 1/8 Such as: AF3528-D-256-B-5
AF3516 3/16
AF3517 1/4
AF3518 5/16

Thread Code Material
AF3519 3/8
AF3520 7/16 Code Thread A Aluminum
AF3521 1/2 080 0-80 B Brass
AF3522 9/16 256 2-56 S Steel
AF3523 5/8 SS Stainless Steel
AF3524 11/16
AF3525 3/4
AF3526 13/16
AF3527 7/8
AF3528 15/16
AF3529 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

0-80 3/8 1/4 3/16
2-56 3/4 5/8 3/16



3/16 HEX SWAGE STANDOFFS

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3530 1/8 Such as: AF3528-D-256-B-5
AF3531 3/16
AF3532 1/4
AF3533 5/16

Thread Code Material
AF3534 3/8
AF3535 7/16 Code Thread A Aluminum
AF3536 1/2 256 2-56 B Brass
AF3537 9/16 S Steel
AF3538 5/8 SS Stainless Steel
AF3539 11/16
AF3540 3/4
AF3541 13/16
AF3542 7/8
AF3543 15/16
AF3544 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16



1/4 HEX SWAGE STANDOFFS

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Part 
Number L

Such as: AF3528-D-256-B-5

AF3545 1/8 AF3560 1-1/16
AF3546 3/16 AF3561 1-1/8

Thread Code Material
AF3547 1/4 AF3562 1-3/16
AF3548 5/16 AF3563 1-1/4 Code Thread A Aluminum
AF3549 3/8 AF3564 1-5/16 256 2-56 B Brass
AF3550 7/16 AF3565 1-3/8 440 4-40 S Steel
AF3551 1/2 AF3566 1-7/16 632 6-32 SS Stainless Steel
AF3552 9/16 AF3567 1-1/2
AF3553 5/8 AF3568 1-9/16
AF3554 11/16 AF3569 1-5/8
AF3555 3/4 AF3570 1-11/16
AF3556 13/16 AF3571 1-3/4
AF3557 7/8 AF3572 1-13/16
AF3558 15/16 AF3573 1-7/8
AF3559 1 AF3574 1-15/16

AF3575 2

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16
4-40 1 3/4 1/4
6-32 1 1 3/8



5/16 HEX SWAGE STANDOFFS

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Part 
Number L

Such as: AF3528-D-256-B-5

AF3576 1/8 AF3591 1-1/16
AF3577 3/16 AF3592 1-1/8

Thread Code Material
AF3578 1/4 AF3593 1-3/16
AF3579 5/16 AF3594 1-1/4 Code Thread A Aluminum
AF3580 3/8 AF3595 1-5/16 440 4-40 B Brass
AF3581 7/16 AF3596 1-3/8 632 6-32 S Steel
AF3582 1/2 AF3597 1-7/16 832 8-32 SS Stainless Steel
AF3583 9/16 AF3598 1-1/2 1032 10-32
AF3584 5/8 AF3599 1-9/16
AF3585 11/16 AF3600 1-5/8
AF3586 3/4 AF3601 1-11/16
AF3587 13/16 AF3602 1-3/4
AF3588 7/8 AF3603 1-13/16
AF3589 15/16 AF3604 1-7/8
AF3590 1 AF3605 1-15/16

AF3606 2

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

4-40 1 3/4 1/4
6-32 1 1 3/8
8-32 1 1 7/16
10-32 1-1/8 1 1/2



3/8 HEX SWAGE STANDOFFS

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Part 
Number L

Such as: AF3528-D-256-B-5

AF3607 1/8 AF3622 1-1/16
AF3608 3/16 AF3623 1-1/8

Thread Code Material
AF3609 1/4 AF3624 1-3/16
AF3610 5/16 AF3625 1-1/4 Code Thread A Aluminum
AF3611 3/8 AF3626 1-5/16 440 4-40 B Brass
AF3612 7/16 AF3627 1-3/8 632 6-32 S Steel
AF3613 1/2 AF3628 1-7/16 832 8-32 SS Stainless Steel
AF3614 9/16 AF3629 1-1/2 1032 10-32
AF3615 5/8 AF3630 1-9/16
AF3616 11/16 AF3631 1-5/8
AF3617 3/4 AF3632 1-11/16
AF3618 13/16 AF3633 1-3/4
AF3619 7/8 AF3634 1-13/16
AF3620 15/16 AF3635 1-7/8
AF3621 1 AF3636 1-15/16

AF3637 2

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

4-40 1 3/4 1/4
6-32 1 1 3/8
8-32 1 1 7/16
10-32 1-1/8 1 1/2



3/16 HEX SWAGE STANDOFFS -.125 Dia. Shank

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3750 1/8 Such as: AF3528-D-256-B-5
AF3751 3/16
AF3752 1/4
AF3753 5/16

Thread Code Material
AF3754 3/8
AF3755 7/16 Code Thread A Aluminum
AF3756 1/2 256 2-56 B Brass
AF3757 9/16 S Steel
AF3758 5/8 SS Stainless Steel
AF3759 11/16
AF3760 3/4
AF3761 13/16
AF3762 7/8
AF3763 15/16
AF3764 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16



1/4 HEX SWAGE STANDOFFS - .136 Dia Shank

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Such as: AF3528-D-256-B-5

AF3850 1/8
AF3851 3/16

Thread Code Material
AF3852 1/4
AF3853 5/16 Code Thread A Aluminum
AF3854 3/8 256 2-56 B Brass
AF3855 7/16 440 4-40 S Steel
AF3856 1/2 SS Stainless Steel
AF3857 9/16
AF3858 5/8
AF3859 11/16
AF3860 3/4
AF3861 13/16
AF3862 7/8
AF3863 15/16
AF3864 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16
4-40 1 3/4 1/4



1/8 ROUND SWAGE STANDOFFS

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3000 1/8 Such as: AF3015-D-080-B-5
AF3001 3/16
AF3002 1/4
AF3003 5/16

Thread Code Material
AF3004 3/8
AF3005 7/16 Code Thread A Aluminum
AF3006 1/2 080 0-80 B Brass
AF3007 9/16 S Steel
AF3008 5/8 SS Stainless Steel
AF3009 11/16
AF3010 3/4
AF3011 13/16
AF3012 7/8
AF3013 15/16
AF3014 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not weild)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

0-80 3/8 1/4 3/16



5/32 ROUND SWAGE STANDOFFS

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3015 1/8 Such as: AF3015-D-080-B-5
AF3016 3/16
AF3017 1/4
AF3018 5/16

Thread Code Material
AF3019 3/8
AF3020 7/16 Code Thread A Aluminum
AF3021 1/2 080 0-80 B Brass
AF3022 9/16 256 2-56 S Steel
AF3023 5/8 SS Stainless Steel
AF3024 11/16
AF3025 3/4
AF3026 13/16
AF3027 7/8
AF3028 15/16
AF3029 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not weild)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

0-80 3/8 1/4 3/16
2-56 3/4 5/8 3/16



3/16 ROUND SWAGE STANDOFFS

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3030 1/8 Such as: AF3015-D-080-B-5
AF3031 3/16
AF3032 1/4
AF3033 5/16

Thread Code Material
AF3034 3/8
AF3035 7/16 Code Thread A Aluminum
AF3036 1/2 256 2-56 B Brass
AF3037 9/16 S Steel
AF3038 5/8 SS Stainless Steel
AF3039 11/16
AF3040 3/4
AF3041 13/16
AF3042 7/8
AF3043 15/16
AF3044 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16



1/4 ROUND SWAGE STANDOFFS

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Part 
Number L

Such as: AF3015-D-080-B-5

AF3045 1/8 AF3060 1-1/16
AF3046 3/16 AF3061 1-1/8

Thread Code Material
AF3047 1/4 AF3062 1-3/16
AF3048 5/16 AF3063 1-1/4 Code Thread A Aluminum
AF3049 3/8 AF3064 1-5/16 256 2-56 B Brass
AF3050 7/16 AF3065 1-3/8 440 4-40 S Steel
AF3051 1/2 AF3066 1-7/16 632 6-32 SS Stainless Steel
AF3052 9/16 AF3067 1-1/2
AF3053 5/8 AF3068 1-9/16
AF3054 11/16 AF3069 1-5/8
AF3055 3/4 AF3070 1-11/16
AF3056 13/16 AF3071 1-3/4
AF3057 7/8 AF3072 1-13/16
AF3058 15/16 AF3073 1-7/8
AF3059 1 AF3074 1-15/16

AF3075 2

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16
4-40 1 3/4 1/4
6-32 1 1 3/8



5/16 ROUND SWAGE STANDOFFS

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Part 
Number L

Such as: AF3015-D-080-B-5

AF3076 1/8 AF3091 1-1/16
AF3077 3/16 AF3092 1-1/8

Thread Code Material
AF3078 1/4 AF3093 1-3/16
AF3079 5/16 AF3094 1-1/4 Code Thread A Aluminum
AF3080 3/8 AF3095 1-5/16 440 4-40 B Brass
AF3081 7/16 AF3096 1-3/8 632 6-32 S Steel
AF3082 1/2 AF3097 1-7/16 832 8-32 SS Stainless Steel
AF3083 9/16 AF3098 1-1/2 1032 10-32
AF3084 5/8 AF3099 1-9/16
AF3085 11/16 AF3100 1-5/8
AF3086 3/4 AF3101 1-11/16
AF3087 13/16 AF3102 1-3/4
AF3088 7/8 AF3103 1-13/16
AF3089 15/16 AF3104 1-7/8
AF3090 1 AF3105 1-15/16

AF3106 2

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

4-40 1 3/4 1/4
6-32 1 1 3/8
8-32 1 1 7/16
10-32 1-1/8 1 1/2



3/8 ROUND SWAGE STANDOFFS

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Part 
Number L

Such as: AF3015-D-080-B-5

AF3107 1/8 AF3122 1-1/16
AF3108 3/16 AF3123 1-1/8

Thread Code Material
AF3109 1/4 AF3124 1-3/16
AF3110 5/16 AF3125 1-1/4 Code Thread A Aluminum
AF3111 3/8 AF3126 1-5/16 440 4-40 B Brass
AF3112 7/16 AF3127 1-3/8 632 6-32 S Steel
AF3113 1/2 AF3128 1-7/16 832 8-32 SS Stainless Steel
AF3114 9/16 AF3129 1-1/2 1032 10-32
AF3115 5/8 AF3130 1-9/16
AF3116 11/16 AF3131 1-5/8
AF3117 3/4 AF3132 1-11/16
AF3118 13/16 AF3133 1-3/4
AF3119 7/8 AF3134 1-13/16
AF3120 15/16 AF3135 1-7/8
AF3121 1 AF3136 1-15/16

AF3137 2

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

4-40 1 3/4 1/4
6-32 1 1 3/8
8-32 1 1 7/16
10-32 1-1/8 1 1/2



3/16 ROUND SWAGE STANDOFFS -.125 Dia. Shank

To creat part number:

Part 
Number L

Part Number + + Swage/Panel Code+Thread + Material+Finish

AF3700 1/8 Such as: AF3015-D-080-B-5
AF3701 3/16
AF3702 1/4
AF3703 5/16

Thread Code Material
AF3704 3/8
AF3705 7/16 Code Thread A Aluminum
AF3706 1/2 256 2-56 B Brass
AF3707 9/16 S Steel
AF3708 5/8 SS Stainless Steel
AF3709 11/16
AF3710 3/4
AF3711 13/16
AF3712 7/8
AF3713 15/16
AF3714 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16



1/4 ROUND SWAGE STANDOFFS - .136 Dia Shank

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Part 
Number L

Such as: AF3015-D-080-B-5

AF3800 1/8
AF3801 3/16

Thread Code Material
AF3802 1/4
AF3803 5/16 Code Thread A Aluminum
AF3804 3/8 256 2-56 B Brass
AF3805 7/16 440 4-40 S Steel
AF3806 1/2 SS Stainless Steel
AF3807 9/16
AF3808 5/8
AF3809 11/16
AF3810 3/4
AF3811 13/16
AF3812 7/8
AF3813 15/16
AF3814 1

Code Finish

5 Plate Nickel Bright -Steel,Brass
7 Iridite Clear-Aluminum

Swage/Panel Code
12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)

S
+.003

P
20 Passivate-Stainless Steel

-.003 22 Anodize Clear-Aluminum
A .075 1/32 24 Anodize Black-Aluminum
B .105 1/16 26 Black Oxide-Steel, Brass,SST
C .135 3/32
D .165 1/8
E .230 3/16
F .290 1/4

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL POM

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,POM

2-56 3/4 5/8 3/16
4-40 1 3/4 1/4



Round 4.5mm Swage Standoff Fasteners

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Such as: AM1510-B-3005-B-5

Part 
Number L

Part 
Number L Thread Code Material

AM1500 3 AM1516 19 Code Thread A Aluminum
AM1501 4 AM1517 20 2545 M2.5×0.45 B Brass
AM1502 5 AM1518 21 3005 M3×0.5 S Steel
AM1503 6 AM1519 22 SS Stainless Steel
AM1504 7 AM1520 23
AM1505 8 AM1521 24
AM1506 9 AM1522 25
AM1507 10 
AM1508 11 
AM1509 12 
AM1510 13 
AM1511 14 
AM1512 15 

Code Finish
AM1513 16 
AM1514 17 5 Plate Nickel Bright -Steel,Brass
AM1515 18 7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass
16 Plate Tin Bright-Steel,Brass (not for weld)
20 Passivate-Stainless Steel
22 Anodize Clear-Aluminum

Swage/Panel Code
24 Anodize Black-Aluminum
26 Black Oxide-Steel, Brass,SST

S
+0.08

P
-0.08

A 1.9 0.8
B 2.7 1.6
C 3.4 2.4
D 4.2 3.2

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL NYLON

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,NYL

ON
M2.5×0.45 19 16 4.7

M3×0.5 25 19 6.3



Round 6mm Swage Standoff Fasteners

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Such as: AM1510-B-3005-B-5

Part 
Number

L
Part 

Number
L Thread Code Material

AM1535 3 AM1551 19 Code Thread A Aluminum

AM1536 4 AM1552 20 3005 M3×0.5 B Brass

AM1537 5 AM1553 21 3506 M3.5×0.6 S Steel

AM1538 6 AM1554 22 SS Stainless Steel

AM1539 7 AM1555 23

AM1540 8 AM1556 24

AM1541 9 AM1557 25

AM1542 10 

AM1543 11 

AM1544 12 

AM1545 13 

AM1546 14 

AM1547 15 
Code Finish

AM1548 16 

AM1549 17 5 Plate Nickel Bright -Steel,Brass

AM1550 18 7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not for weld)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

Swage/Panel Code
26 Black Oxide-Steel, Brass,SST

S
+0.08

P
-0.08

A 1.9 0.8

B 2.7 1.6

C 3.4 2.4

D 4.2 3.2

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL NYLON

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,NYL

ON
M3×0.5 25 19 6.3

M3.5×0.6 25 25 9.5



Round 8mm Swage Standoff Fasteners

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Such as: AM1510-B-3005-B-5

Part 
Number

L
Part 

Number
L Thread Code Material

AM1570 3 AM1586 19 Code Thread A Aluminum

AM1571 4 AM1587 20 3506 M3.5×0.6 B Brass

AM1572 5 AM1588 21 4007 M4×0.7 S Steel

AM1573 6 AM1589 22 SS Stainless Steel

AM1574 7 AM1590 23

AM1575 8 AM1591 24

AM1576 9 AM1592 25

AM1577 10 

AM1578 11 

AM1579 12 

AM1580 13 

AM1581 14 

AM1582 15 
Code Finish

AM1583 16 

AM1584 17 5 Plate Nickel Bright -Steel,Brass

AM1585 18 7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not for weld)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

Swage/Panel Code
26 Black Oxide-Steel, Brass,SST

S
+0.08

P
-0.08

A 1.9 0.8

B 2.7 1.6

C 3.4 2.4

D 4.2 3.2

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL NYLON

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,NYL

ON
M3.5×0.6 25 25 9.5

M4×0.7 25 25 11.1



Round 10mm Swage Standoff Fasteners

To creat part number:

Part Number + + Swage/Panel Code+Thread + Material+Finish

Such as: AM1510-B-3005-B-5

Part 
Number

L
Part 

Number
L Thread Code Material

AM1605 3 AM1621 19 Code Thread A Aluminum

AM1606 4 AM1622 20 3506 M3.5×0.6 B Brass

AM1607 5 AM1623 21 4007 M4×0.7 S Steel

AM1608 6 AM1624 22 5008 M5×0.8 SS Stainless Steel

AM1609 7 AM1625 23

AM1610 8 AM1626 24

AM1611 9 AM1627 25

AM1612 10 

AM1613 11 

AM1614 12 

AM1615 13 

AM1616 14 

AM1617 15 
Code Finish

AM1618 16 

AM1619 17 5 Plate Nickel Bright -Steel,Brass

AM1620 18 7 Iridite Clear-Aluminum

12 Plate Zinc Clear-Steel,Brass

16 Plate Tin Bright-Steel,Brass (not for weld)

20 Passivate-Stainless Steel

22 Anodize Clear-Aluminum

24 Anodize Black-Aluminum

Swage/Panel Code
26 Black Oxide-Steel, Brass,SST

S
+0.08

P
-0.08

A 1.9 0.8

B 2.7 1.6

C 3.4 2.4

D 4.2 3.2

Depths of threads

THREAD

TAPPED THROUGH BLIND TAP
DEPTHALUMINUM,      

BRASS
STEEL NYLON

STAINLESS
STEEL

ALUMINUM, BRASS
ST.ST.,STEEL,NYL

ON
M3.5×0.6 25 25 9.5

M4×0.7 25 25 11.1

M5×0.8 28 25 12.7


